
Addition 

4567 + 324 

67,678 + 1357 

0.09 + 23 

0.012 + 2.4 

0.03 + 0.002 

Subtraction 

78,678 – 3456 

67.67 – 0.13 

456.01 – 0.01 

89.89 – 23.2 

50.5 – 12.45 

Problem-Solving 

If I save £0.05 every day (normal year) how much will I have at the end 

of the year? 

 

 

 

 

 

A concert ticket costs £200 initially, then it is reduced by 50%. What is its 

new price? 

 

 

 

 

 

A Netflix subscription is increasing by 10%. If the current price is £6.00 

per month, what will the new price be? 

 

 

 

If there are 300 pupils in a school, and 145 are girls. How much are 

boys? 

 

Time 

 

Convert these times into 12-

hour clock. 

 

00:05 

12:30 

05:25 

18:56 

22:09 

01:02 

 

 
 

Times tables 

 

12 x 12 

1 x 8 

6 x 6 

11 x 2 

10 x 12 

1 x 0 

7 x 1 

2 x 8 

12 ÷ 1 

1 ÷ 0  

88 ÷ 11 

50 ÷ 10 

24 ÷ 12 

50 ÷ 5 

24 ÷ 3 

 

Year 4  

Homework 

   


